Opérations avec deux fractions mixtes (G)

Nom:

N

Date:

Calculez chaque résultat.

53435 =
52+ 4o =
55 +1- =
5%—4% =
11x5h =
5-—12 =
s} =
53-25 =
shxik -
52415 =

Note:
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Opérations avec deux fractions mixtes (G) Réponses

Nom:

Date: Note:
Calculez chaque résultat.
1 1 16 7 16 2 32 11
373 T 373 T 3X7 5 0 T 15
2 17 17 97 17 20 340 49
5-+4— =+ —-=X—= == =1-—7
3 20 3 20 3 97 291 291
17 11 17 7 119 20
—+1— = — - — = — —_— = — = e
> 377 T3 X1 T 3 O3
4 53 40 13
7% T 979 9 T 1
1 1 3 11 33 1
Iaxs3 =3X5 = 3 =8
21 11 31
5-—-1- = — — — = —_— = 33—
4 8 8
1 1 5 21 105 9
127 = 3%%4 = 16 T %%
1 2 16 8 8
3753 T 3735 3 T3
1 1 11 21 231 31
1% T 2% w0 T P
5 1 40 8 48 6
tly = 747 = 7 =06
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